LEVEL 1 

Unit 4:  Spreadsheets

4/SAMPLE/1

Scenario

You are working as an Administrative Assistant for ‘Progress Catering Ltd’.  Your job is to produce routine financial reports.

	Assessment

Objectives


	

	
	Your Team Leader has asked you to produce a spreadsheet report showing the desserts stocked by the Company.  



	1a

5a


	1 Create a new spreadsheet.  

	2a


	2 Enter the following data, leaving the COST/PTN column blank.

PTNS is the abbreviation used for PORTIONS.

CAL is the abbreviation used for CALORIES.

  

	
	DESSERTS
	CHOC?
	FRUIT?
	PTNS
	CAL
	COST 
	COST/

PTN

	
	PROFITEROLES
	Y
	N
	12
	4000
	12
	

	
	COFFEE ECLAIRS
	N
	N
	10
	8000
	10
	

	
	BRANDY SNAPS
	N
	N
	14
	7500
	10
	

	
	FRUIT PAVLOVA
	N
	Y
	10
	6000
	15
	

	
	PECAN PIE
	N
	N
	8
	9600
	9.5
	

	
	CHEESECAKE
	N
	N
	12
	7200
	12
	

	
	TIRAMISU
	Y
	N
	8
	6400
	9.5
	

	
	BUTTERSCOTCH PIE
	N
	N
	8
	7200
	8.5
	

	
	
	
	
	
	
	
	

	2a


	3 Enter your name, centre number and today’s date a few lines below the data.  



	3a

3b


	4 The cost per portion COST/PTN for each dessert is calculated by dividing COST by the number of portions PTNS.

Insert a formula to calculate the COST/PTN for PROFITEROLES.

Replicate this formula to show the COST/PTN for each dessert.



	5b

5e


	5 Save your spreadsheet report with the filename desserts and print one copy, showing the figures not the formulae.  Make sure that all the data is displayed in full.




	2b


	6 Insert a new column entitled CAL/PTN between the columns CAL and COST.



	3a

3b


	7 The calories per portion (CAL/PTN) is calculated by dividing the calories (CAL) by the number of portions (PTNS).  

Insert a formula to calculate the CAL/PTN for PROFITEROLES.

Replicate this formula to show the CAL/PTN for each of the other desserts.



	
	Your Team Leader would like some changes made to the report.  



	2c


	8 The information on which desserts contain fruit should not have been included in this report.

Delete the entire column of data for FRUIT?.



	2d

3c


	9 Make the following amendments to the spreadsheet 

a) the COST of the FRUIT PAVLOVA should be 16.5
b) the CHEESECAKE should have been entered as LIME CHEESECAKE
c) the number of calories (CAL) in the TIRAMISU should be 6500

d) the number of portions (PTNS) that can be obtained from the PECAN PIE is 10
Make sure the COST/PTN and CAL/PTN have updated as a result of these changes.



	
	Your Team Leader would like you to format the report.  



	4a

4b


	10 Apply alignment as follows:

a) The first two columns headed DESSERTS and CHOC? should be left-aligned.

b) The remaining columns headed PTNS, CAL, CAL/PTN, COST  and COST/PTN  should be right-aligned.  

c) All numeric values should be right-aligned.  




	4c

4d

4e


	11 Format the data as follows:

a) The figures for PTNS, CAL and CAL/PTN should be displayed in integer format (to zero decimal places).  

b) The figures for COST should be displayed to 2 decimal places.  

c) The COST/PTN data only should be displayed with a £ sign and to 2 decimal places.  

  

	5c

5e


	12 Save your spreadsheet using the filename puddings.  Print one copy, showing figures not formulae.  Make sure that all data is displayed in full.  



	5d


	13 Print the spreadsheet with all the formulae showing.  Make sure that all formulae are displayed in full.



	1a

5f
	14 Close the spreadsheet and exit the software securely.  


Sample assignment for practice only – not to be used for final assessment
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